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TRƯỜNG ĐẠI HỌC VĂN LANG 

KHOA: NGOẠI NGỮ 

 

ĐỀ THI VÀ ĐÁP ÁN 

THI KẾT THÚC HỌC PHẦN 

Học kỳ 2, năm học 2023-2024 

 

I. Thông tin chung 

Tên học phần:  NGỮ PHÁP ỨNG DỤNG 1 

Mã học phần:  71ENGL30462 Số tin chỉ: 2 

Mã nhóm lớp học phần:  232_DNN0362_01; 232_71ENGL30462_01 

Hình thức thi: Trắc nghiệm và tự luận Thời gian làm bài:  60 phút 

Thí sinh được tham khảo tài liệu: ☐ Có ☒ Không 

 

1. Format đề thi 

- Font: Times New Roman 

- Size: 13 

- Tên các phương án lựa chọn: in hoa, in đậm 

- Không sử dụng nhảy chữ/số tự động (numbering) 

- Mặc định phương án đúng luôn luôn là Phương án A ghi ANSWER: A 

- Tổng số câu hỏi thi: 

- Quy ước đặt tên file đề thi: 

+ Mã học phần_Tên học phần_Mã nhóm học phần_TN_De 1 

+ Mã học phần_Tên học phần_Mã nhóm học phần_TN_De 1_Mã đề (Nếu sử dụng nhiều 

mã đề cho 1 lần thi). 

 

2. Bàn giao đề thi 

Sau khi kiểm duyệt đề thi, đáp án/rubric. Trưởng Khoa/Bộ môn gửi đề thi, đáp án/rubric 

về Trung tâm Khảo thí qua email: khaothivanlang@gmail.com bao gồm file word và file pdf 

(nén lại và đặt mật khẩu file nén) và nhắn tin + họ tên người gửi qua số điện thoại 

0918.01.03.09 (Phan Nhất Linh). 

- Khuyến khích Giảng viên biên soạn và nộp đề thi, đáp án bằng File Hot Potatoes. Trung 

tâm Khảo thí gửi kèm File cài đặt và File hướng dẫn sử dụng để hỗ trợ Quý Thầy Cô. 
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II. Các yêu cầu của đề thi nhằm đáp ứng CLO 

(Phần này phải phối hợp với thông tin từ đề cương chi tiết của học phần) 

Ký 

hiệu 

CLO 

Nội dung CLO  

Hình 

thức 

đánh giá 

Trọng số CLO 

trong thành 

phần đánh giá 

(%) 

Câu 

hỏi 

thi số 

Điểm 

số 

tối 

đa 

Lấy dữ liệu 

đo lường 

mức đạt 

PLO/PI 

(1) (2) (3) (4) (5) (6) (7) 

CLO1 

Vận dụng sự hiểu 

biết ứng dụng của 

câu, thì, động từ 

khiếm khuyết, câu 

hỏi và từ để hỏi, bị 

động, mạo từ, từ 

chỉ số lượng, đại 

từ, tính từ và trạng 

từ vào ngữ cảnh. 

Trắc 

nghiệm 

và tự luận 

30%   PLO2/PI2.1 

CLO2 

Phân biệt các câu, 

thì, động từ khiếm 

khuyết, câu hỏi và 

từ để hỏi, bị động, 

mạo từ, từ chỉ số 

lượng, đại từ, tính 

từ và trạng từ trong 

ngữ cảnh. 

Trắc 

nghiệm 

và tự luận 

30%   PLO2/PI2.3 

CLO3 

Lựa chọn đúng câu, 

thì, động từ khiếm 

khuyết, câu hỏi và 

từ để hỏi, bị động, 

mạo từ, từ chỉ số 

lượng, đại từ, tính 

từ và trạng từ trong 

bài tập ngữ pháp. 

Trắc 

nghiệm 

và tự luận 

30%   PLO2/PI2.1 

CLO4 
Làm việc nhóm 

hiệu quả 
     

CLO5 

Thể hiện thái độ 

học tập tích cực, tự 

chủ trong nghiên 

cứu các điểm ngữ 

pháp như câu, thì, 

động từ khiếm 

khuyết, câu hỏi và 

từ để hỏi, bị động, 

mạo từ, từ chỉ số 

lượng, đại từ, tính 

từ và trạng từ. 

Trắc 

nghiệm 

và tự luận 

10%   PLO12/PI12.1 

 
Chú thích các cột: 

(1) Chỉ liệt kê các CLO được đánh giá bởi đề thi kết thúc học phần (tương ứng như đã mô tả trong 

đề cương chi tiết học phần). Lưu ý không đưa vào bảng này các CLO không dùng bài thi kết thúc học 

phần để đánh giá (có một số CLO được bố trí đánh giá bằng bài kiểm tra giữa kỳ, đánh giá qua dự 

án, đồ án trong quá trình học hay các hình thức đánh giá quá trình khác chứ không bố trí đánh giá 
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bằng bài thi kết thúc học phần). Trường hợp một số CLO vừa được bố trí đánh giá quá trình hay giữa 

kỳ vừa được bố trí đánh giá kết thúc học phần thì vẫn đưa vào cột (1) 

(2) Nêu nội dung của CLO tương ứng. 

(3) Hình thức kiểm tra đánh giá có thể là: trắc nghiệm, tự luận, dự án, đồ án, vấn đáp, thực hành 

trên máy tính, thực hành phòng thí nghiệm, báo cáo, thuyết trình,…, phù hợp với nội dung của CLO 

và mô tả trong đề cương chi tiết học phần. 

(4) Trọng số mức độ quan trọng của từng CLO trong đề thi kết thúc học phần do giảng viên ra đề 

thi quy định (mang tính tương đối) trên cơ sở mức độ quan trọng của từng CLO. Đây là cơ sở để 

phân phối tỷ lệ % số điểm tối đa cho các câu hỏi thi dùng để đánh giá các CLO tương ứng, bảo đảm 

CLO quan trọng hơn thì được đánh giá với điểm số tối đa lớn hơn. Cột (4) dùng để hỗ trợ cho cột 

(6). 

(5) Liệt kê các câu hỏi thi số (câu hỏi số … hoặc từ câu hỏi số… đến câu hỏi số…) dùng để kiểm 

tra người học đạt các CLO tương ứng. 

(6) Ghi điểm số tối đa cho mỗi câu hỏi hoặc phần thi. 

(7) Trong trường hợp đây là học phần cốt lõi - sử dụng kết quả đánh giá CLO của hàng tương ứng 

trong bảng để đo lường đánh giá mức độ người học đạt được PLO/PI - cần liệt kê ký hiệu PLO/PI có 

liên quan vào hàng tương ứng. Trong đề cương chi tiết học phần cũng cần mô tả rõ CLO tương ứng 

của học phần này sẽ được sử dụng làm dữ liệu để đo lường đánh giá các PLO/PI. Trường hợp học 

phần không có CLO nào phục vụ việc đo lường đánh giá mức đạt PLO/PI thì để trống cột này. 

 

III. Nội dung câu hỏi thi 

 

 

PHẦN TRẮC NGHIỆM (6 điểm) 

 

Part I: Select the best option to fill in each blank of the following sentences below. (6 

marks)  

 

Somebody whose job is to inspect factories is ……………… 

A. a factory inspector.  

B. an inspector factory.  

C. the inspector’s factory. 

D. inspector of a factory. 

ANSWER: A 

 

The oldest building in the city is the ……………… castle. 

A. 500-year-old  

B. 500 years old  

C. 500 old years 

D. 500-old-year 

ANSWER: A 

 

The scissors ……………… sharp, so neither the cousins nor Timmy ……………… 

allowed to play with them, even when the boys need to finish a school project. 

A. are……….. is 

B. are……….. are 

C. is……….. is 

D. is……….. are  

ANSWER: A 
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My new pair of jeans………………pockets on the side of the legs. 

A. has  

B. is  

C. have 

D. are 

ANSWER: A 

 

What they’re discussing in the meeting ……………. interest me. 

A. doesn’t  

B. don’t  

C. are 

D. is 

ANSWER: A 

 

The effect of a honeybee’s sting on a human being (depend) …………… on that person’s 

susceptibility to ……………  

A. depends …………… the bee’s venom. 

B. depend …………… a bee’s venom.  

C. depended …………… the venom’s bee. 

D. will depend …………… a venom’s bee. 

ANSWER: A 

 

I watched Dances with Wolves, which……………. about dancing at all. 

A. wasn’t 

B. weren’t  

C. didn’t 

D. don’t 

ANSWER: A 

 

The farmer refused to ………………. to walk across his field. 

A. give us permission 

B. give permission us 

C. give permission on us 

D. give us to permission 

ANSWER: A 

 

Heartbreak is a feeling of great sadness since ………………. bad has happened such as the 

end of a love affair or the loss of a life. 

A. something 

B. anything 

C. everything 

D. nothing 

ANSWER: A 

 

She ………….. seriously injured, but it really ………….. her. 

A. wasn’t - frightened 



BM-003 

5 

B. isn’t - frightening 

C. didn’t - frighten 

D. doesn’t - frightens 

ANSWER: A 

 

We have an extra room in our apartment. ……………… stay with us? 

A. Why don’t you 

B. Why do you 

C. Are you 

D. Did you 

ANSWER: A 

 

I wrote to some people, but ………….. of them has replied yet. 

A. none 

B. not 

C. no 

D. nothing 

ANSWER: A 

 

Sarah won't let me _______ her car. She doesn't trust me.  

A. drive    

B. to drive 

C. to driving 

D. driving 

ANSWER: A 

 

Our old neighbors were so ……………….. – they ……………….. loud music late at night. 

A. annoyed………….. were always playing  

B. annoy…………….. have always played 

C. annoying………….. always played 

D. annoyance………….. are always playing 

ANSWER: A 

 

We ……………….. next weekend at our mum’s house, so we ……………….. come to your 

party. 

A. are spending ………….. can’t 

B. spend ………….. couldn’t 

C. spent ………….. may not 

D. have spent ………….. don’t have to 

ANSWER: A 

 

Look! You have been running for three hours. ……………….. 

A. Why don’t you want to stop? 
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B. Why you don’t want to stop. 

C. Why don’t want to stop? 

D. Why don’t you to stop? 

ANSWER: A 

 

When I ……………….. the door this morning, all the surrounding roads were very wet. It 

……………….. last night.  

A. opened ………….. must have rained  

B. open ……………….. should have rained 

C. had opened ……………….. need have rained 

D. will open ……………….. could have rained 

ANSWER: A 

 

What do you think ……………….. a good lesson?  

A. makes  

B. it is 

C. it will be 

D. will it be 

ANSWER: A 

 

Anyone who has a library card ……………….. take materials out of the library for two 

weeks.  

A. must  

B. may 

C. should 

D. had better 

ANSWER: A 

 

……………….. have become clearer and clearer by now.  

A. The effects of global warming on the earth  

B. The effects of Earth on global warming  

C. The warming global effects on Earth 

D. The earth of global warming effects  

ANSWER: A 

 

Next week, Tom will finish Chapter 4 and Chapter 5. Before he studies Chapter 5, he (already 

study) ……………….. Chapter 4. 

A. will already have studied 

B. will already study 

C. has already studied 

D. had already studied  

ANSWER: A 
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Right now, Martha is in the science building. The chemical experiment she (do) 

……………….. is dangerous, so she (be) ……………….. very careful. 

 

A. is doing ……………….. is being 

B. does ……………….. is 

C. has done……………….. will be 

D. had done ………………..was being  

ANSWER: A 

 

Joe says he didn’t do ……………….. at school because he was ……………….. taught. 

A. well ……………….. badly 

B. good ……………….. bad 

C. well……………….. bad 

D. good ……………….. badly  

ANSWER: A 

 

Nothing (see) ……………….. of Paul since his car (find) ……………….. abandoned near 

Coney Island Park last week. 

A. has been seen ……………….. was found 

B. will be seen ……………….. found 

C. saw……………….. will be found 

D. is going to see ……………….. has been found  

ANSWER: A 

 

Appearance and good manners are important, so you ……………….. dress well and be polite, 

but you ……………….. be formal in Italy. 

A. should ………………..don’t have to 

B. may ……………….. mustn’t 

C. can ……………….. can’t 

D. ought to ……………….. might  

ANSWER: A 

 

Paul: When is Tom coming to see us? 

Liv: He hasn’t said yet. He ……………….. on Sunday. 

A. might come 

B. will come 

C. can come 

D. ought to come 

ANSWER: A 

 

Laura: A lovely perfume! ……………….. 
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Peter: It says on the label it’s made in France. 

A. Where is it made? 

B. Where does it made? 

C. Where it is made? 

D. Where it made? 

ANSWER: A 

 

Through the centuries, thousands of different formulas (develop) ……………….. for ink. 

Most ink today (make) ……………….. from synthetic chemicals. 

A. have been developed……………….. is made 

B. have developed……………….. was made 

C. had developed……………….. made 

D. had been developed……………….. are made 

ANSWER: A 

 

One day ……………….. husband and wife were driving to ……………….. countryside to 

visit their friends when they realized they needed to stop for ……………….. gas. 

A. a ……………….. the ……………….. X 

B. the ……………….. the ……………….. X 

C. a ……………….. the ……………….. the 

D. X ……………….. the ……………….. a 

ANSWER: A 

 

An employer will consider you (serious) ……………….. for a position when you can show 

them that you know ……………….., what you can offer and which you have studied. 

A. seriously ……………….. who you are 

B. serious ……………….. who are you 

C. seriously ……………….. who are you  

D. serious ……………….. who you are 

ANSWER: A 

 

PHẦN TỰ LUẬN (4 điểm) 

Part II: Write a new sentence with the same meaning as the prior one, using the word 

given. YOU MUST NOT CHANGE THE FORM OF THE WORD GIVEN. (4 marks)  

Câu 1 (0,7 điểm): I haven’t talked to them since Christmas. (was) 

Đáp án Câu 1: It was Christmas when I (last) talked to them. 

Câu 2 (0,7 điểm): Traffic delays have become a serious problem. (One of) 

Đáp án Câu 2: One of (many) serious problems is traffic delays.  

Câu 3 (0,7 điểm): Not until the next morning did we notice that she had not come home. 

(didn’t) 
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Đáp án Câu 3: We didn’t notice until the next morning that she had not come home./ 

We didn’t notice that she had not come home until the next morning.  

Câu 4 (0,7 điểm): I can’t play the piano and Laura can’t either. (Neither) 

Đáp án Câu 4: Neither Laura nor I can play the piano. 

Câu 5 (0,7 điểm): No explanation is necessary. (unnecessary) 

Đáp án Câu 5: It is unnecessary to explain.   

Câu 6 (0,7 điểm): No one gave us instructions or showed us what to do.  (weren’t) 

Đáp án Câu 6: We weren’t given instructions or shown what to do. 

Câu 7 (0,7 điểm): Jack is younger than he looks. (isn’t)  

Đáp án Câu 7: Jack isn’t as old as he looks. 

Câu 8 (0,7 điểm): Who broke this window? (responsible) 

Đáp án Câu 8: Who was responsible for this broken window? 

Câu 9 (0,7 điểm): He doesn’t like her and she doesn’t like him. (each other) 

Đáp án Câu 9: They don’t like each other. 

Câu 10 (0,7 điểm): Someone will be at the airport to meet you. (There) 

Đáp án Câu 10: There will be someone at the airport to meet you. 

 

THANG ĐIỂM 

 

Phần câu hỏi Câu số/Nội dung câu hỏi Thang điểm Ghi chú 

I. Trắc nghiệm (Nhóm câu hỏi) 6.0  

 Câu 1 – 30 0.2  

II. Tự luận (Nhóm câu hỏi)   

 Câu 1-10 4.0  

 0.4  

    

    

……………… ……………….   

 Điểm tổng 10.0  

 

  TP. Hồ Chí Minh, ngày 14 tháng 04 năm 2024 

 

 

Người duyệt đề   Giảng viên ra đề 

                                                                
 

TS. Nguyễn Hòa Mai Phương 

                                                                                                 
 

                                                                                  Đinh Trần Ngọc Phúc 
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